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Waveform properties
tpeak:60
h: 172
max: 300
min: 128
charge: 11114
chi2: 305.83

wf_3 (n=39, run=4563 x=16 y=38)
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Mean x   184.3
Mean y   397.4
RMS x   108.6
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 / ndf 2χ  1.447e+08 / 2562
p0        70.04± -2.319 
p1        0.5106± 1.705 
p2        0.000701± 0.001916 
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Fitting function

 f(x)=p0*x**p1+p2

Run4563: height vs chi-square

Desisionvalue (chi2/(1.9e-3 h^2 + 1.7 h - 2.3))
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Run4563: height vs decition value
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228: 3: 28: 178: 61: 0.72
229: 3: 29: 202: 62: 2.03
230: 3: 30: 152: 62: 0.97
231: 14: 22: 203: 63: 93.82

No.:      x:  y:  h: tpeak: Dec.Val

event 1791
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wf_231 (n=1791, run=4563 x=14 y=22)
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29476: 4: 18: 195: 62: 1.40
29477: 6: 4: 96: 61: 1.52
29478: 6: 5: 121: 61: 3.25
29479: 6: 13: 191: 63: 0.78
29480: 6: 22: 116: 62: 1.73
29481: 6: 28: 105: 61: 1.43
29482: 7: 14: 203: 170: 944.90

No.:      x:  y:  h: tpeak: Dec.Val

event 208703
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wf_29482 (n=208703, run=4563 x=7 y=14)VD=chi2/(p0+p1	
  h	
  +	
  p2	
  h2 )
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Result

Fitting f(x)= p0*exp(-(x-p1)/p2)
p2=mean life time of μ is 2.07±0.08 us.
(τ

μ
=2.19 us in vacuum)

Ee+ is an energy of e+ decayed  
from μ, maximum 53 MeV.

It is consists in comparison with 
calibration with Kmu2 (153 MeV).
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wf_8998 (n=62903, run=4563 x=1 y=2)

8998: 1: 2: 158: 60: 1.55
8999: 2: 6: 156: 62: 0.81
9000: 2: 12: 195: 64: 1.15
9001: 2: 20: 124: 61: 0.67
9002: 2: 29: 111: 63: 0.75
9003: 2: 45: 95: 61: 0.85
9004: 5: 28: 111: 136: 581.68

No.:      x:  y:  h: tpeak: Dec.Val

wf_8998 (n=62903, run=4563 x=1 y=2)
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